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&//(99 Multipliser desimaler med 10 100 000 000

StudentName: _ ExamDate: _ ExamScore:
7,059 x 100 = 7,463 x 100 =
2,254 x 1000 = 3,342 x 1000 =
10,522 % 100 = 6,228 x 1000 =
6,67 x 1000 = 6,985 x 1000 =
7,522 % 100 = 1,693 x 100 =
3,264 x 10 = 10, 447 % 100 =
9,284 x 100 = 9,129 x 10 =
5,17 x 1000 = 4,003 x 1000 =
5,451 x 1000 = 5,041 x 100 =
9,645 x 10 = 4,9%10=
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Multipliser desimaler med 10 100 000 000

StudentName: ExamDate: __ ExamScore: ____
7,059 x 100 = 705.9 7,463 x 100 = 746.3
2,254 x 1000 = 2254 3,342 x 1000 = 3342
10, 522 x 100 = 1052.2 6,228 x 1000 = 6228
6,67 x 1000 = 6670 6, 985 x 1000 = 6985
7,522 x 100 =752.2 1,693 x 100 = 169.3
3,264 x 10 = 32.64 10,447 x 100 = 1044.7
9,284 x 100 = 928.4 9,129 x 10 =91.29
5,17 x 1000 = 5170 4,003 x 1000 = 4003
5,451 x 1000 = 5451 5,041 x 100 = 504.1
9,645 x 10 = 96.45 4,9x10=49
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